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Question No : 1

Which three services are supported in the Disaster Recovery Cloud? (Choose three.)

A. Data de-duplication service

B. Initial data seeding by disk

C. Failover automation support

D. Self-service recovery point objective (RPO) settings
E. vLockster data syncronithation

Answer: B,D,E

Question No : 2

Which user has access to My VMware and can purchase resources and file support
tickets?

A. Virtual infrastructure administrator
B. Network administrator

C. Read-only administrator

D. Subscription administrator

Answer: B
Reference:

http://pubs.vmware.com/vcal/index.jsp?topic=%2Fcom.vmware.vca.od.ug.doc%2FGUID-
46130596-2988-4038-9CC9-FD4128F86DD4.html

Question No : 3

In a vCloud environment, how many NSX Edge Gateway interfaces are reserved for
connecting to the external network?

A. One
B. Two
C. Four
D. Six
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Answer: D
Reference:

https://lwww.vmware.com/files/pdf/products/nsx/vmw-nsx-network-virtualization-design-
guide.pdf

Question No : 4

A company is evaluating the VMware Hybrid Cloud solution and has asked an
administrator to research its advantages and respond back to the implementation manager.
(Choose three.)

A. Hot migration of virtual machines between datacenter or private cloud and vCloud Air.
B. Common management tool for on-premises and off-premises management of
workloads.

C. Common platform for existing and new applications.

D. Seamless networking layer between your datacenter or private cloud and vCloud Air.
E. Solution to migrate physical servers to cloud.

Answer: A,C,D
Reference:

https://www.vmware.com/files/pdf/vcloud-air/vcloud-air-Datasheet.pdf

Question No : 5

Which service allows administrators to distribute the incoming requests to a specific
external IP addresses across multiple internal IP addresses?

A.DHCP

B. VPN

C. Load Balancing
D. NAT

Answer: D
Reference:
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http://blogs.vmware.com/vcloud/2014/09/instantiate-vms-vcloud-air-8-month.html

Question No : 6

Which three options represent advantages on implementing VXLANs? (Choose three.)

A. VXLANSs provide distributed firewall services.

B. VXLANSs allow compute resources to be pooled across non-contiguous clusters.
C. VXLANSs allow full-encapsulation at Layer 2, which provides network security.
D. VXLANSs provide the ability to deploy completely customizable networks.

E. VXLANSs provide end-to-end data-link level encryption.

Answer: B,C,E

Question No : 7

What are three functions of a vCloud Connector Server? (Choose three.)

A. Control vCloud Connector nodes

B. Transfer connect from one cloud to another

C. Coordinate the activity of the vCloud Connector
D. Provide automation for vCloud Air

E. Create the vCloud Connector User Interface

Answer: A,C,D

Question No : 8

What is the minimum configuration supported in the disaster recovery cloud?

A. 20 GB RAM, 10 GHz vCPU, and 2TB of storage
B. 120 GB RAM, 30 GHz vCPU, and 6TB of storage
C. 20 GB RAM, 10 GHz vCPU, and 1TB of storage
D. 10 GB RAM, 10 GHz vCPU, and 4TB of storage
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